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R HIE M| EEYN %2 R &4 R g HRLL
miEX S (t) (%) (FM) (%) (t) (%)
NEEH A EHIE TS 7 7 290,380 85.4| 53,475,598 86.6 68,184 84.6
REEMAHETES 15 15 47,015 13.8| 7,756,520 12.6 11,232 13.9

R REESE TS 4 4 2,749 0.8 497,727 0.8 1,208 15

=1 it 26 26 340,144 100.0| 61,729,845 100.0 80,624 100.0
" H i f A
K o OE|E &=
s BEEH == R £ R 2 ¥R

i |TEES (t) (%) (FM) (%) (t) (%)
NEEH A EHIE TS 5 6 26,084 97.6| 23,768,733 97.6 11,717 95.2

ay [N R AR D 5T T 35 1 1 637 24| 592676 2.4 592 4.8

& it 6 7 26,721 100.0| 24,361,409 100.0 12,309 100.0
5 B ] 1t £
% iz | 1 iz . . .
s BEEH == R £ R =2 ¥R
k=155 (t) (%) (FM) (%) (t) (%)
NEEH A EHIE TS 2 2 2,081,482 71.0
REAEHFEMIS 2 2 496,483 16.9
& INHR AR ED SR T 5 1 1 351,662 12.0
& Hi 5 5 2,929,627 100.0
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= z DO b & it
+%8 R = R +%8 R HE R +%8 R
(FH) (%) (t) (%) (FH) (%) (t) (%) (FH) (%)
21,416,213 87.7 2,644 75.4| 551,335 67.8| 361,208 85.1| 75443146 86.7
2,794,052 11.4 782 223| 246311 30.3 59,029 13.9] 10,796,883 12.4
219,836 0.9 82 2.3 14,970 18 4,039 10| 732,533 038
24,430,101 100.0 3,508 100.0| 812,616 100.0| 424,276 100.0| 86,972,562 100.0
* z 0 I
&% R = R &% R = R &% R
(FH) (%) (t) (%) (FH) (%) (t) (%) (FH) (%)
13,989,229 96.2 15,079 98.0| 13,609,930 98.0 52,880 97.2| 51,367,892 97.3
551,455 3.8 305 20| 283,499 2.0 1,534 28| 1427630 2.7
14,540,684 100.0 15,384 100.0| 13,893,429 100.0 54414 100.0| 52,795,522 100.0
1€ z O i & Hi
&% Rt = Rt &% Rt = Rt &% Rt
(FH) (%) (t) (%) (FH) (%) (t) (%) (FH) (%)
192,135 845 68,407 82.2 2,342,024 72.3
35,128 15.5 14,822 17.8 546,433 16.9
0 0.0 0 0.0 351,662 10.9
227,263 100.0 83,229 100.0 3,240,119 100.0
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